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3.1 HCCOOO

HCC O O Hybrid Concurrent Constraint programing(0 0000000000
O000000)0000000000ooooooooooooOooooOoOoO
0000000O0bO0bOOoo0obDOooooo
OHCCOOOOOOODOOOOOOOODODOOODOOO (default cc) 00 OO0
0000000000000 0o0O0oDO0bO0ooooDOoDooDOoDbOon
O000O0OHCCOOOOODODODOODODODODOooDooooooooooo
00000000000 0bO00O00O00oDOD0ODOO0oDOOobOoOOooDOobOoooDo
000000000000 0D00DO00o0ooooooooooooooog
0O00000Do0oDbOooOO
000000 /000000000000 000000000O0DODOO0O0000
000000000000 Db0DbO0bO00DO0OcO0D0ODODODODODOO
000000000000 tO000000DoD0DO00o0oooooDOoobOooog
000Db00O00000O0DbO0ODOO0OobOHCCODODODODODODOODODODOOO
00000000000 00000000000000o00oooHCcCcooonod
00000000Db0bO0ooooDooDoon
000000000000 000DO000O00oooDoooooooobooonog
00000000ODb0ODO00b0DO000oO0o00oooOoOoooD HCCOoOooooOo
0000000ooO00ooo0oooodoooooooooooooooog
goboo00o0oO0o0ooo0obo0obobbOo0obbOO0bObO00bbDOOooDOOD
0000000000000 b00oDooDoo0oooDooDOoooDooooog
0000000bO00O0O0bO00O0o0O0DbOO0obObO0DOobObOOoDOoDbODbDO
0000000 Booooooooood
0O HCCODODODODODOODOOOOOOUODOODOOoDOoDODODOoDODODOoOO
000000000000 00oooooooooooooooog
0000000bO0o00O0bO0o0oo0oboOO0oD0ooOoOOoDOoOobDOoboooobDo
0000000000 (SEDIC : Sensitive Dependence on Initial Conditions) O
D00 SEDICOO0OD0O0O0D0O0O0D0O0O0DO0ODChaosD O OO0OD0ODOOODDOO
000000000000 00O000DO0bO0oo0oOooooOoon



B Animator — HoccVisualizer E”E”E|

| 100.00

start stop setting...

...........................................

0310000000000

HCCOOOO21000000000000(000 HeeVisualizer DOOODO)
ooooooooooooooooodooooooooooonoogooon

¥=(z—-bxx—dxy

Y =dsxx+(z—-0)xy

Y=ctaxz—22/3— (2 +y)x (1 +exz2)+ frzxad

(a,b,c,de,fO000O0ODODO)

gbgobdgobobbobooboobuooboobooboobobboo



/#SAMPLE_INTERVAL_MAX 0.01
/00000x/
Ball =(initx, inity, initz, a, b, c, d, e, f)[x, y, zl{
x=initx, y=inity, z=initz,//000
always{
cont(x), cont(y), cont(z),//0D0 00O
/000000000000%*/
x’=(z-b)*x-dx*y,
y’=d*x+(z-b) *y,

z’=c+a*z-z"3/3-(x"2+y"2) * (1+e*z) +f*xz*x"3

¥,
/0000000000 =/
Ball(B, 0.9, 0.1, 1.7, 1, 0.7, 0.6, 3.5, 0.25, 0),

sample(B.x, B.y, B.z)//00000000000OO )
.

032 000000000000000HCCOOOODOO

gboboggboodbbooobooobboobbuooobooobod
UjavalUDDO0OO0OOOO0OODODDODOODDODOOOOOOOOObODbOO0OnbDO
gogoooogo

3.2 0OOOOO

3.2.1 UO0O0OO0OOOooooo

gbbogbbuogobboobbuooobbuogbooobbooobobd
gobboboogoboobod
gboboooboboogbbobbuooobbuogbbuoobbooobboo
gobboooooobobooobbboobobooobobbuooobboo
gogbbbuooobbbooooboobuoooobobbuooooboo
U0oobooobooboobtttllDO0DODD askOOOOOooooon
O00tellODO0O0OD0OOOOODOODOOODOOODOODOOOaskOOOOO
gobbbuoooobbboooobobbuoooobobboooobon
gibbbDez=10z>000000000000000000
O0tellDOO0OODODOODOOOODOODODOODOODOODO
O0tellDODOODODOOOOOOODOODODOOOOOOODODO




gogbbbuoobbbeze=10z>0000000000000
O0DaskOO00O0D0DODODOO0OO0ODODODOOODOODOODOODOODOn

3.22 HCCOOODOOOO

HCCOOOOOOOOOOOOODOOOOUOOoOooooooOo (boooo
000)00oO0oooOoOo0o0UooOoooooOoO0UooooDoooOOoOoooooo
gobodgbbuogobboobbuooboboogbbooobboogboo
ERERE

(0)O000 (point phase)

oo ooboooooooooooo
O (telD0D000D) 00000000000 00O0O (askODOODDODOO)ODOOO
gogodooboobbbboooooooooouoobobbbboooooooo
(0)O000O (interval phase)
gobbooooobboooubob oo buoooboboooobbobooo
Queveempty DO OO DOOOOOOOO
g bbb B
oo bobboobbbbbbbbbooon
bbb buoooboobboouobbooono
goggbobbbooogunbbbodugooonoonbbooooonoooo
good

000000000000 stepOO0O0O0OODOO
point phase [0 interval phase D O 000000000000 O O Ointerval phase
0ooooooooo
Org:HCcCOoooooooooon
OocO:00000
Onext:00 phase 00O O00O00DO0O0O0DOODODO
Oelse:0000000O
0000000000 stepd000D0OODOOODOOODOOODOOO

OOooo0oO0o0o0 <r ,o,nextelse>00000FN ODOOOOOOOO
Ubooobouoboobob o,next,else0000O00OOOOOOOOODO
gooooobodod

O00c D0O0O0O0D0O0000ODOOO (constraint error)
uoooboobdooooog
OOOelseO00O000O0DOOOODOOODOOO
O00else0000000Oelse0000000 elseD (ifcelse A)O O
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gobooogd

Udbo 00 cOdbbDbOOOOOLDOOOOOO

Do 00 cOoOobbboood

O00r O (ifcelse A)D ADDOOOOOOOOOOOOOOOOOO
gogbbbuooobbbuooodobbboeo 0O cObObOO0OOUDO
goboboboggooboood

ggbbbuoggobbodao
gogbobuogoobborogoobuoooobbooooobboood
ggbbbuoooobbbiuiddilo 00 cugobbbuooonobn
goboooogd

O00000000000000000 (default error)

interval phase D 0 O OO OO0
HCCOOOOOOODOOOOOOOOOOOOOOOO0OO (adaptive step-size)
goooboobooboobooboooboooo
O0000D000D0O0D0O0 point phase 0000000 OODODOOODOO
oogd

0000000000 bOOooDoOOobOoobooooooboooo
gbobooboboboooboboobooboooobooboobobOoo
00000000 error checkingO OO OODOOOOMO

00000000 20000



é N

integrate(diff_eqs,check_list) {
let h be the initial step size(0.1);
let V be the dependent variables of diff_egs;
allocate a choicepoint;
set the initial values of V by the store from the point phase
propagate;
next:
integrate V;
if a constraint in check_list is overshot, bracktrack and shrink h;
if a constraint in check_list changes state, stop;
go to next;

}

integrate V{ //4th order Runge-Kutta with no error-control
compute k1 from current x’ (for each x in V);
for i in [2,4] {
undo trail;
update x (for each x in V) to compute ki;
propagate;
compute ki for current x’ (for each x in V);
}
undo trail;
set new x = old x + 1/6%kl + 1/3%xk2 + 1/3%k3 + 1/6%k4;
propagate;

U33 b0boggooobooooboood

HCCOOOOOOOOODODOoOOoOooOooDoDOoDOo
ggboboboogoboboo
gobobooboboboooobobbooooboobbbuoooobbboooooo
gbogoboboobobooboobuoobooboboobooboobboobbo
gooboboooooooboogo
ggboboboooobbboooobbbuoooooon
goboobbooobboobobbooobobooobbooobobooboo
goobooood
00000000 point phase O break point 0 0 00000000 OOOOO
break point 0 OO0 0000 OD0O0OO0OOO0OODOOOODOOO0OODOOODOO
000000 (step-size) 0000000000 O0O0DOO stepsizeDO0OO0OO
U000 break point 0 0 OO0 OO stepsize U D OO ODOODOOODOOOOO
gbobogbboooobooobobbobbuoouooibnd step-size OO0
O000b00oobOoboboOn break point 00O OO0OO
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000000 e#0000000000000 point phased 0 OO break point
0ooQ

3.23 HCCOODOOOOODOOO

gobooboboooHCcCcOOobooooooooboooboooboo HCCO O
O00000000000000000000 38,0)ooooooooooo

0 3.1: HCCOODOO

gogd gogdd

c dcO0OO00o0oooooo

AB rrogbbo0oboooboobooboobobobooboooboooDbo
if ¢ then A O0cOOD0OAODOO

unless ¢ then A OO0 cO0O0OO00O (cOO0DOOO unknown) 0O AOOO

hence A 0000000 ADOOOO

always A AODOOOO (Ahence ADODODO)

sample(z1,--- jzn) | zl,--- ,2n00000000000000O0O

HCCUOUOODOOO SAMPLEINTERVAL_MAX

0 sample(z1,--- ,2n) 00 0000000000000 00O0O0O0OOOOOO
gbobobodgbobobobobobobooboboboboooodobo
Ooob0oob0oob0ooboooooobboobboobDboOoDRKQCOOOO
O break poit U0 OO OO0O0O0O0Ostep0 000000 0OOOOOODOO
gobbuoogdbbobogobbogbbbuooobbooobobboogon
gogbbbouoobbboooobbbuoooobn

0000 cont()
Ocont(z)0 0000000000000 CO0OOO alwaysOD henceD OO OO
O000000OO0always cont(x) 0 000000000000 0O0O0ODOOOO

00000 prev()

O00000000000000000000prev(z)O point phase0 00000
O 0O point phase 0 0 0O 0O O O interval phased xO OO OO OO
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40 CO4O4O0

00000000000000000000000000000000000
0 [1),[s)oooo

4.1 0OO0O0OO

Hard Constraint
000o0O00o0obo0doboobD0o00Dbo0odoDbOo0opDoOoOoooog
Orequired0 000000000000 OOOODOOOOOOOODOOODOO
000o0o0d0dDbOO0o0o0booOoO00dDbOOo00bDbO00ooOoOoO0o0oDOoOooDooao
oo0oooooon

0 Soft Constraint
0000000000000 0o00o00oDooooooOooOoooOooDOooDnon
00000000000 0O00 strong, medium, weak 0 OO0 00000

4.2 0O00O0OO

0000 (constraint hierarchy) 000 0000000000000 00O00OO
gooooodooooooboooooobodoboooboooooooooon
coobooooobooobooooooboobooooooooobooooooooon
gooboooooooodobovlogooodooogoooooodgoon
gooobooooooboooooobooooooooooooboooooon
gooooooodgobobodoooooobbodgooooooooooooon
goobooooooobooooboboooobooooo
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gobboboooobbbuoooobboood
e N

0 0 required x+y=z

U0 strong x=2
00 medium x=4, y=3
U4 weak y=1, z=1

00 x=2, y=3, z=b
N )

gdddddtds+y=z000000000000000000oobDbDODO
gboboodobbuogobbuooobbooboboobboobobboobao
goooooooooobobbbbOb strongd o =2000000000
gboboooboobobooboboobobbobuoobtez=20000
gboobobboobooobooboobobOmediomd0ognooooon
r=40000 strong0 00000000000 xz=400000000000
Ub00Oy=3000000000000000000O0000O00OO0ObOO0ObOn
00000000000 z000000 (2=2+43=5).00000000 weak
gobbbudgdydzoogooooboooooobobooooboboao
gbooobuooboobobbobibe=2,y=3,z=50000

4.3 UO0OO0OOOO

OO000O0BomingODOOODOOOOOOODOOOOOOOOOOODO
0000 HOOODOOoOO0OO0OO0OnO0O0O0 (n+1)00000000000OO
0 H=(Hy,H,,..,H,) 00000000000 H,O0O0O0OKkO0OO0O m0OO
00000 Hy = (Ckn»Chr2sChom, ) 0000000 0,1,. 000000000
cobooobooobobooobobodooooooooooboooooboooonn
O required, strong, medium, weak D 0 000000000 OOO0OO,1,2,30
0000000000, better 000000 (comparator) 000000000.0
better 0000000000 2000000000 ,000000000000
00000000 better(v,o,H) 0O DDO0O0O0O0D0O0O0O0 HOOOOOO
O0o0o0O0v0.,0000000000000000000000000000
goboboooooooboobooobooboooooboooboooooa

oo FO0000000000 Hooooooooooooooodod
OObetter 00000000000 0OO0DOOOOODOOOOOOOOOOOO
0,HO000 SH)DODODoOODoOooooo

S(H) ={v € So(H) F Fv(v e Sy(H) V better(v,v', H))}
O000S(H)ODOOOoOoooooO HoOooooooooooooooooo
So(H) = {v|Viholds(cy,; ,v)}
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ggboguboooboobonboobbooboooobbooobboobo
gdgbddooooobbooubooobooobooobbooubooobo
000000000000000000000 (better(v,v', H)O O better(v',v, H)
0000)000000000000000O0OO0O0ODO0000O000O0O0oOo
goooon

4.4 OO0

oo ooooboooboobooboooo
gjuoddddgoooooooooooooooobobbobbbbbbboo
O00000000000000 (global)DOOOOOO0OO (local)DOOOOO
00000000000 00000000000Oleast — squares — better(LSB)
dogoooooobbobobbbobbbbbbobbbbb2000040b4d
gobboobbooobobooobb2b0dbboooboobbooobooo
oo ooobnbboobobooobooon
goooog

least — squares — better(v,v', Z)
— VR (K < k)
= Yi(e(ew, 4,v))? = Sile(ew, 4,0'))?
NEi(e(ew, 4,0))? < Sile(ep, 1,0'))?

O00O0Oe(c,v) DOODODODODODOD»O000000c00000000O00OOO
000000000000000000000000OO0O0O000O0O0O0ODB0OO
ooboobooboooboooooooooooooboobooboLLsBOO
0000000000000 0000000000D0000 weighted — sum—
better(WSB) 000 0000000000000 DODOOOOOOOOONO worst
— case — better(WCB) D000 0000000000 OOOODOOOOOOO
godldgoooooouoooooobbboboooobbooobboobbb
O000000000000000O0locally — error — better(LEB) O locally —
predicate — better(LPB) O 0 0O O LEB O O locally — metric — better 0 0 0 O
gobooobobooboboooboorLpBOOoobbOo0obDooobbDOO
0000000000000 000000000000000 (predicate error
function) 00 0000 ODO0OLEBOOOOOOOOOOOOLPBOOOODOO
gboboogbbuogobobobbuoobboogbbuoobobooobboo
gbbbogobodbogbbobobuooboobbobobooobooobobon
gboboodgbbuogobboobuoobboogbbuoobobooobbon
gobooobobooodbobooobbooobbooobbooobooooa
gobboobouoogbbuoobobbuoobbboobbboobboobbo
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gbobooobboggbbuooobboobobooobuoobobboobbo
goboobbooobboobbooobboboboboobbooobboo
gobboboobbuoobbuooobbuoobbuooobbuooobao
gobooobobooobobooobobobooobobooobboobon zO
LSpooooogoooobooo

required [ x1 = x2
strong [J x2 + 1 = x3
weak [ x1 =0

weak [J x3 = 3

O000Orequired 00 000000O000O00OS0(Z) = (vl,v2,03)vl =020
Oo0So(Z)000,000000000000C0O0000UODOooDooOoOOOd
00 SZ)ooooo0ooooooooooooogLSsBOoOoooooooO
000000000000 0000O000000O00D00DO00DOoDOOoOoonDd
O0000000000000000So(Z)0ooooo(o,o,1),(1,1,2),2,2,3)
,003) 000000000000 0O0O0O0((@MOOO(0,0,1) 0000 weak O
ooooooo@wl—-024((w3—=3)2=400000000)0000(0,0,3) O
O0strong OO00O0OO0OD0DOODOO0OOODOODOOOOOODOODOOODOOO
O00000D00DO00000D0Ostrong000000O0ODOODOODOODOO
ooooo(,0,1)0 (2,2,3)0000(1, 1,2)0000000000O0OOOO
000So(Zz)oooooooO (4, ,2)0000000 (000wl =0200
12+ 1=0300000000000w21+(w3-3)20000000000000
0)0oo0opooooooboOoooo (1,1,2)0000000 S(z2)DoooooO
S(Z)=1(1,1,2)

J0000ooooooobobobobobDO0oO0oO0OdO Least-squares-betterd O O O O
0000000 0Weighted-sum-betterd O 0O 00O 0O 0O 0O O O O Locally-predicate-
better OO0 D O000O00DOOO0DOODODO

4.5 UO00OOO0OOOOOOO

goggdggbbbbbbbbobbbbbbobouououuooooooobbb
gobbobouogobbbooooboo

4.5.1 0O0OOOO

gboboodobbuogobbuoobboboboobbuoobobooobboo
gobbooobbobooobbuooobbooobbboobbooooba
gboboodobbuo200bbuoouoobboobboobooobban
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gooobbbbboobobobbbbbbuoooooooooobobooobboo
gbooooboboboboooboobobobooboobobobodBlued
gbobooobbuooobboobbuooobbuoobbobobooobboo
gobbobobooobboboobbooobbooooboboobooonoboo
gobodobboooboooboobbooboboobboooLpBO OO
J0oobobobdbODeltaBlue DO ODOOOLOOODDOOODOODOODODO
gooLpBOODOOODOOOOODDOOODDOOODDOOODLObOOODODOO
gobbogoboogbbuogobbuooobboooobooobbuoonbao
gboboboobobooobbobobbuodobbogbbooobbooobao
000 00bO0b0O00bdwalkabout strength OO0 O0O0OO0O0OOO0OOOOO
ggbbbbbobootbouoooooooooooobbbbbbobobbboo
gobbodgbobogboogbbuooobbuooobbooobooboboo
O000o0b0ob0obobo0boob0bOobo0oOob0UdDeltaBlue DO OOOO
O00000DO0O0D0O0O0O0DbO00DbODO0O?24 SkyBlue O O DeltaBlue O
gbobbodobuoobbuoooboobbuoogbuooobbuooobbao
O000D0QuickPlan DOOD0OOO0OO0OOO0OOOODOODOOODOODOODOO
gogogoobbbbbbbbbbotbodgoooooooobobbbobobobobobo
DETAILOOOODOOOOOOOOODOODLSBODOOOOODOODODODOO
gobbbuooobbboooobbobuoooobo

4.5.2 00O

gobooboobbooobbuooobbuooobbobbooobbooboba
0000000000000 0ob0obU0bOdOO0range o obobonO
gobboodobbooobobbooobbloobblbboooboobooboo
OO0 WSBOOOWCBUOOOODOODO DeltaStar O 0 Orange D OO0 OO
gogbbboooobbboogobbboooobbboooooboboga

4.5.3 UOOOOOOOO

gobbobuoooobbboooooboboooobbboooobobbool
gboboobobooboboooobobobuooboboobobobod
ggboobooogooo

minimizewstrongf(e 1) +wweakf(e 2)+ wweakf(e 3)
subjecttorl = x2
2+1=z3+¢ 1
r1=0+¢ 2
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r3=3+¢ 3

O000wstrongdwweak 00000000 strongDweak OOOO0OO0OO0O
0000000000000 00000000000000000 (00000
000000o0o0U00oDooo0oooooU0ooDoooooooO)yooood
0000000o0o0oodoooooooooDooDooooooo LEBOOO
O Cassowary 000 00000000D0O0OO0ODOODOOLSBOOODOO QOCA
oood
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50 HCCOUOOOOMO

5.1 HCCUOUOUOOOOOOOoooo

5.1.1 OO0 HCCOODOOOOO

O0o0HCCOODOOOODOOoOooOOOoOooDOooobbOOooDbDooobobooooo
gboboobooobooboboobobooboobobooboboonbon
gboboobobuobobobobooboboobobuoboobobobo
gobooboobbooboobuoobobboboboobobooboobon
gboboobobuobobuooboboboobobooboboboobo
gooooobooboopCcCcObobooboobobobooboonoon

5.1.2 000000

gogbbbooobbbooogb
goooboboobooboboobooboboooooooifoogboobboooboobooboog
gbobodgbboobbuooobbuoobbboobbooobbooobbo
gobbooobobogobboooooobbobbbooobbooobboo
ooooooifgooboooooooooboooooboooooooboooooo
googdoboboogobboogobbooooboobuoooobbogo
ggbogobbouoodgobo
gogbooboogn
gboboodbbuooobboobbuoodobboobuoobobbooobbon
gobobooboooboobobooobbooobbooobbuooobbao
O0000o00oooooooooobobDOweakODOOODOODOOODODOO
gobboogboogbbuooobbuoobobbogobbooobboooboo
gboooboboodobbuooobboobbooobbuoobobbooobboo
gobobooogd
googod
gobooobooboobooboooboobooboofobboooobboooo
ifJelse000000000OOOOOODODDOOOOOOOOOOOMHOOOOO
O000o0bo0ooboooboobbobduwlessO00O0ODOOOODOODOOOO
OOoooooOooooooooifob0obbo0oobooooooDoOooifADif-A
gbbodboobobuoooboobbodbgeto b0 boonoonog
gboobgobobbobboobooboobo

18



5.2 UOOO0OOOOO

gobbbuoobbbooodobbboooobbodao
0000 HOOOOOOOOOOOOO ((booooooooooooo

H - (H[),Hl, ceey Hl)

oo0o0OobD0obOobD HkOOOO kOOD COnOOOoOoooO

H,O {ck1,Chs2 sy Clion }

0o00.00000000000000000000DO00DoDO00ooooan
000000000000 D0O00 required, strong, medium, weak 00 0 0 0 0O O
ooooooooa,,,0ood

000000 SH)DOH,; O {an}t O H;0{C;,,} 000000,
hi = (Ho, Hy, ..., H;), h; = (Hy, Hy,...,H;) 000

S(H) ={5(hy) [ =3¢jn (cjm € by Vi <)}

i=400

5.2.1 syntax

ContConstrd Dconstr 0 D 0000 OO [3]
acO ask0O0ONOOOOxOOOOX()OOO
HAgent :== Preferencial Agent | Agent
Preferencial :== "required” | ” strong” | "medium” | "weak”
Agent :== ContConstr | DConstr | Agent | if ac then Agent

| if ac then Agent else Agent | unless ac then Agent
| hence Agent | always Agent | do Agent watching ac
| do Agent hencewatching ac | do Agent until ac | do Agent henceuntil ac
| while ac do Agent | time Agent on ac | when ac do Agent
| wait N do Agent | new x in Agent | X (t1,...,tn)
| forall X(Y') do Agent | sample(z1, ..., xn)
| evalexpr Variable = FExpression in Agent

19



5.2.2 semantics

e cODO
e 'IJ000U0DOO0ODOODODDOODDODODOODOODOO

cO D00

o0 oc00000OO00O0OOOcOODOODOOn
cloUOtellDO00ODOOOODOOODOOOOODODOOcO srO0O0DO0OOOO

next,else 1 0000 [2]

e Pl Preferencel DO O OODDOOOOODOODOOOOOOODOODO

Telll
(T, c),0,next,else) - (L', (o U{c}),next, else)
Tell2-1
(c*{cl Ne2}) AN Pecl < P.c2
((I'ycl), (0%, c2),next, else) - (I', (6> U{cl}), next, else)
Tell2-2

(c*#{cl A e2}) N Pl > P.c2

([, cl), (0%, ¢c2),next, elsey - (I', o, next, else)
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5.3 UUHUOOooooooooooonod

5.3.1 UOUOOOOoOn

goooboobobbobboobooboobuooboobo
gbobobgoobooboboobobobobooboboobobobod
googo
gbobooboboobobgobobooboboboobobobobod
googoogo

~

x=0,
always{
cont(x),
if (x=10) then x’=-prev(x’) else x’=10

always{
weak x’=10, cont(x),
medium if (x=10) then x’=-prev(x’)
} ooooon

ifelse0 000000
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f

x=0,
y=123,

A=0A
always{
x’=1,
y’=-3,
if (x=y) then {z=2, T}
}
+,

B=0){
always {unless(T) then z=1}

x=0,
y=123,

A=0{
always medium{
x’=1,
y’=-3,
if (x=y) then z=2
}
,

B=0{
always weak z=1

s oboobog

-

O00OO000 unlessO O OO
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x = 10, L0Q),
always LO = () {
do hence {
x’ =10
} until(x=20),
when (x=20) do L1(Q)
},

always L1 = () {
do hence {
x’ =5
} until(x=30),
when (x=30) do L2()
},

always L2 = () {
do hence {
x’ = -5
} until(x=10),
when (x=10) do LO(Q)

always {
weak x’=10,
medium if (x>=20) then x’=5,
strong when(x=30) do{
do always x’=-5 watching(x=10)
}
} Ooooon

gobbbooooobooo
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5.3.2 UU0OOOOOOOO

HCCOODOODOOOOOO contleont OO0 O0D0O0OO0OOOODOODODOODOO
ggbbobuoooobbbuoooobbboooobbboooob
g0oobodl contlcont OO0 O ODOOD0OO0OOODLOODODOOOOODOOODLDODO
goooo
gobbogobbddy=3000000000 =20000v=000000
goobbbuoooobobobuoon

v=3,
hence{

if (v=0) then v’=0 else v’=-2
}

gooooooog

0000000000000 00000D00D00b00D0000DO interval phase
Ov=300000000000000000000lecont(v)00OOOOOO
000000000000 0000D000 point phase0 0 v=30000000
hence 0 0O DOO0O0OOODODODODODO interval phase 00 D0 0Ov =300000
O0Ohence00DO0O0ODO0O0ODOO0ODO0ODODO0ODOO0ODOO0ODODOODOOOO
000000000 point phase 0 v = 30 interval phaseD OO0 0000000
v=—mfOimfO0000vOODOOODOOO0O OO0 askO0OODOOOODOOO
0000000000000 0000000D00000 o = —infOimfO000
000000 interval phase 0000000 v=—infOinfOv = —infOinf O
oogd

Oleont(v) 00D OO0O0O0O0»=00000000000000000000
O00000v=0000000000000000000000 point phase O
v=00000000000000000000O0cont(v)JOOODODOO
0000000000000 0000v =00 point phase0 00000 O interval
phase0 0 v = (0v' = =20 0 0 Opoint phase 0 00 O 0if0 0 if (v = 0)thenv’ =
Oelsev = 200000000 vwOOOOOODOOOOOOOOOw=—infO
infOD0D0D000D000000000000000Y =—inf0mfO0000
OvwvOOoooooooo

gobbobooobbboooobboboood

gbboobuodbogbboobduobooobbobobuooboobbooo
gobbbuogooboboooobobuoooooboo
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y=10,
always{

cont (y),

y’’=-9.8,

if (y=0) then y’=-prev(y’)

y=10,
always{
cont (y),
cont(y’’),
if (y=0) then y’=-prev(y’) else y’’=-9.8
} 000000

\_
ooy =1000y=00000000y =00000 point
phased ¢y’ =—-980000000000 ¢y 000y =—prev(y) 000000
goooooooooon
0000000000y =00 pointphase 0 OO0 00O 0O0OO0OOOOOOOO
gooooo
000000000000 00000000y =00 point phased y” = —9.8 0
000000000000 cont(y")D0OD0OOO0O0 ¢y =-9800000 y 000
0000000000y D000000000y 00000 y = —prev(y) 00
godoobooooooooooooooogdd

goboobobod cont,Jeont U0 DO O0OODOOODODOOOOOOODOOOO
gbobobooobuogobobobooobbuooobboobbuoobbooobboo
gboooboboboobooobdd contlcont 0O OO0DOOO0OODODOODLDOO
O00ooooooibO contleont 0O O0OO0OOO0ODOOOOOOOOODO
gboobooooobooboobooboobuooboobOon cont,leont OO
gobbuoodbbboooobbuooobbboobobboobbooobbda
gbbogoboobuodbogbboobboobuogboogouooboonbobo
gbobuoodgbobobogoobobubooobuoboooboboboon
gobogbogobbuooobbuooboboogbbuooobboooboboo
gdbbbDcecontOD0O0OOOO0O0ODOODOOOOODODODOOOOO00 contU O
goggobobobbbbodoooooobbobobbotodooooooooobo
cont,leont 0 0000000000000 0OOO0O0OOOOOOOOOOOOO
gboobooboboooboobuobobobod contleont OO OOOOO
gogbobobodoodn

Ocontlecont OO OOOO0OOOOOOODOODLOODLOODOOODOODOO
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gbobodbboobbooobbuoobbooobbuoobbooobbao
gogbobobooooboboooon

5.3.3 UOOOOO

gs3lbbuogugobboobuoooooobbobbouooogon
gboboobobobobobobooboboobobooboboobo
goboogobugobbuooobbuoobbuooobbuooboboonooboog
gogboooboboooobobboooobbboooobo

534 0OO0OOOOOOO

gbobooobbogoooobbuoobogbbuooobboooboboo
gbobooboodgbbuooobboobboogbbuooboboboobboon
gobogobogobbuogobbooougbbooobbooonoood
gobooo
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el HCCUUOUOOOOONO
HRERE

6.1 DO HCCOUOUOUOOOOOO
1. 00000000000000000000000000
2. HeeDODOOODDOODOOOOOODO
3.0000000000000000000000

4. (a) point phase O O (b) interval phase O O
(a) > (b) - (a) = (b) » (2) ~IDOO0D0DO0O0D0O0O0DO0OOOOO
oo oooooooouooooouo
gbodododouoouoouoouo

. buugogobobobobbouooooobboobobbouooooon
gogoo

6.1.1 point phasel [ [0 [0

O0ob0Ooooobobob0obOoboobo0obOobOnOpoint phase O
gbooboooooboobobobobobbooobobobobobobooo
gboobgobobbobobooboobuoobooboobobbo
0000000 TelOOO HecTell) DODOODOOOOOOOODOOOOOO
O00000000000000000000cont0 0000000000 DO HeeTell()
O00000OOHeTell() OO0 O0DO000O0O0O0ODOO0O000OO00O0OODOOOO
goboooboooboobboobbo0ooboobObO0bbOOnD interval phase
googooood

6.1.2 interval pahse ] [ [ [

interval phase 0 point phase 00000000000 0ODOOOO0OOODOOO
O00000O0bOO00OO00bO00obO0bO0oobO0boooOOoboOOobbOoOooDO
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0000000000000 00000O0Opoint phase0 D0 O0DOO0ODOOO
interval phase J 0 0 00000 point phase D0 OO OO OO

6.2 U0OOOOOOO

gooobooooobooobooooooOoifoobocoooooboooooboobooo
ggbobooboooobobobouooon

x=10, y=20, h
y’=0, x’=1,
always{
O weak {cont(y), cont(x), y’’=-9.8, x’’=0,}
O medium{ if(y=0) then y’=-0.8*prev(y’),
O if(x=20) then x’=-prev(x’),
0}
O strong{ if(y=0 && prev(y’)>-0.00001) then always y’=0,
O if (x=-1) then {x’=-prev(x’), y’=20},
}
le(x
Ksamp e(x,y) )

6.3 UOLUOULOOUOLOOoUon

6.3.1 U0O0OOOOOOODOOO

gbobogboboobodbogbbbobboobooboobobboobod
Hybrid CCOOUODOODOOOOOOOOOOOOODOODOODObOObD.OoOO
gogbbboooobbboogobobboooobbbooooobooa
gooobooboobobooobo Heccoboooooboooobobooooonoo
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gobobooogod

SEmX HCC
il Ff 8 HCC EFREIGR
BEsxa 271
¥ | *
27 » |— )
1 Exix E
(A—YFRCaR)
oooooooooooooooooooon
e N
if S(C1)# @ then {
if S(C1) n S(C2) # @ then
S(H)=S(C1) n S(C2)
else
S(H)=S(C1)
}
else
S(H)=S(C2)
ci,ccO0gn
s@bOodcOooooooon
sMmoooooon
Strong C10 Weak C2
N J

ogoobobooooooooooooooooooooooooboobobobobobooD e,

oooooccz2oooog
e Cl1UDOODOODOLDO H=C2

e ClUDOODOOCINnC20D00D00DOODOODOOD H=C1NnC2

e ClOOODOOCINC2000000DDO0O0O0OH=C1
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ggbboobuogoobobodo
gbobogoboobuodbooboobboobbooboobooboonbbo

ggbbbuoobobobooogn

-
y =10, y’ =0, h

hence {

cont(y),

if (y=0) then{
y’= -0.8xprev(y’)
telse {
y’’= -9.8
}
k} /

gobboboooobbobooooboobog

f
y =10, y’ =0, R

hence {
cont(y),
weak y’’=-9.8,
strong if (y=0) then y’= -0.8*prev(y’)

+
o /)
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ggbbobuoooobbobuoooobn

4 R
y =10, y» =0,

hence {

cont (y),
if (y=0) then y’=-0.8*prev(y’),

/000000000=*/
if (y’=-0.8*prev(y’)) then {
if (y=0) then{
if(y’’=-9.8 && y’=-0.8*prev(y’)) then {
y’’=-9.8, y’=-0.8*prev(y’)
s
unless(y’’=-9.8 && y’=-0.8*prev(y’)) then{
y’=-0.8*prev(y’)

}’

unless (y’=—0,8*prev(y7)) then y: ’=-9.8
- D

0000 if(y=0)theny =—-08xprev(y ) 000000000 ODODODODOOO
00000 HCCOODODDODOODOoOOoOooDDO#ODbhooooooooooon
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god1

00000000000 000O00D0O00oDOOOoHCCOODODOoOoDOoOoDOoo
0000000000000 00000D00000 unless (y = —0.8«prev(y’))
then y" = —-9.80 000

O00o 000000000 unless (O) then ¢y’ = —9.8000000000
y'=-980000000000000000000000000O ¢v"=-9.80
00000000y =-08x*prev(y)000000000O0O0OOOODO HCC
gogoooooobobbboooog

gg1oougaooo
0000000000y =-08xprev(y)00000000ODOOOOODOOOO
ggooobbbooogboboboooobbbuoooboboboood
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gogo 2
gogbboboooobobboooobbbuoooobobooo

f
y =10, y’ =0,
x =0, x> =1,
always {

cont (y),cont(x),

if(y=0) then {A, y’ = -0.8 * prev(y’)},
if (x=20) then {B, x’=-prev(x’)} else {C, x’’=0},

0000000/
if A then {
if(y’’=-9.8 && A) then {
y’’=-9.8, y’=-0.8*prev(y’)
1+,
unless(y’’=-9.8 && A) then{
y’=-0.8*prev(y’)

}
1,
if B then {
if(y’’=-9.8 && B) then {
y’’=-9.8, x’=-prev(x’)
1,
unless(y’’=-9.8 && B) then{
x’=-prev(x’)
}
1,
if C then {
if(y’’=-9.8 && C) then { *
y’’=-9.8, x’’=0 x
}, *
unless(y’’=-9.8 && C) then{
x’’=0
}
},
unless (A||B||C) then y’’=-9.8 * ok
}
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OO00O00OD0DweakDOOOOOOOODOODODOOOOOODO
Uoboooboodbb«0bbuobbuobbooobooobioOn s
ggbbbuoooobbbuoooobbbduooobobogao

gg2000040000
O00«00000000000D000DODO000DOO000DOOOUnless A then
y'=-980000000weakJODOODDOOOODOODOOOODODOOODO
g

g
gboboodobbuogobboobbuooobbuoobbbooboobboo
000000000000 000O0oOoOooooOo(booooooooOoOoOQ
O000O0OO0)oDooOoO0OO0O0O000oUOo0U0oooooooooDoOoOOO
gobdbuoggbbugobbuooobbuooobbuooobbuoooboo
gbobobodoboboodgbboobobuooobbobbooobboobbao
goboggbbodgbbuogbobooobbuogbbooobbuoobboo
gogon

6.3.2 HCCOOOOOOODOOOODDbDOOObDDbDOoOoODOD

1. 0000000Db00O00000O0boDobO0obOobOooboooOoD A0
2. 0000000b00O0ObOoOobOoOobOobOBOOO
3. 0Jb00BOHCCOOODODODODODODODOUODODODODO

() 0000000 0O0O0O0ODOOOOOO0
gbooobodgg

(b HCCOOOOOODODOODODOOOOoO

i gggogoboboooobooboboooobobobuoooobo
ii. 0000000000 0bO0 A0DODODO
iii. 00DO0O0OO0O00O00oOooooOob cobo

iv. 00DO0DOO0oOooooooooooo coHecconoonooo
obobbooboobooboon

v. dggoboboogooooobooan

vi 000000000 0bO0o0oo0ooobooo A0gooboooo
g
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goooogoooogo
PHEAEIL TS —m
e AERIN A —

.

———— HCCEREBAT
27 NEBRHRAE ( HHVTNEES
HUORBEETT | DBEESLECHE
HPHETOREIZRT
HCCEREBN T
I LEES TS—ERHLE
{ Fx—XTHIFID
) - BEERITE,
(T2 BLHESIR
f
YES

goboooogd

U dogoobbbuoooobboooooboo
O00z=00000=1000000z=20000000 =500
O0000000z=300000002=-5000000000 =10
gogbboboooobbboooon
gobobooogboo
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g

20

¥=10, v TNHEA{E
always {

weak ¥'=10, g ] 5' 10 oo
medium if{x>20) then x'=5
when(x=30) do{

do strong always ®'=-5 watching(x=10)

goob1

gboobobooobD-mf0Dinf0000000OO00OO00O00O00O0O0O0ODOO0OO0
gobbboggboobood

O00000000ooooo0dgdxz=10,y=20,y =0,/ =1000
gbbobodobbgdbbgdbe=20000y=0000000000
ggbobbbuoooobbbbduddd zenoddbbObO0O0y =000
y=00000000yOOOODODOOODOOODOOODOOOO

x=10, y=20, y’=0,x’=1,
always{
cont (y),
cont(x),
weak y’’=-9.8, x’’=0,
if (y=0) then{
if (prev(y’)>-0.00001) then always y’=0
else storng y’=-0.8xprev (y’)
1,
if (x=>20) then strong x’=-prev(x’)
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goo 2
gogobbbboooooobobbbbbooooooboboobobogoo
goboooboooboooooooooooooooboooooo Heco
gobbobogoobobogo

Ta

g
gbgl1boobooboobooboobobobobooboobd
gob200000000HCCOO0OOODOOODOObOOObDbObOOD
gbooboobobooboobbooboobbooboobobono
gbooboobooboobon
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6.3.3 HCCUUUUOUOUOUOUUOUOUOUOUoouoooooobooboobooo
HRERN

6.3200 000 000000O00DO0ODO0O0O00O0ODOLDOOUODLDObODODODbDObDOn
000000000000 0000000000DO0O00Opoint phased interval
phase 000 0O0O0OO00OOOODODOOOO point phase [ interval phase [0 [0 O [
O0oo0oOoooooobooooooboooooa
rooddde00000OO0OOY0000D0DO0OO0O00ODODOADDDOOODOO
POOODO(0DOOOO0O0O0OODODOODO)DCOOOOERROOOO

1. parsing

2. dequeue(A) (from T')
3. store(P, A)

4. tell A

5. if = ERR then compulating, and goto 2
else goto (a)

(a) which constrant(C2 € o) does last executed Agent(C'1 € A) contra-
dict?
(b) switch (a = P.C1 — P.C2){
case a > 0:
goto 2
case a < 0:
Y uU{C2}
continue

case a = 0:
return ERR

}
(c) initialize(o), initialize(T")
(d) parsing except for 3
(e) goto 2
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070 0000000

7.1 633000000

l.ggbbbougooboboooobood

2.00000000000000000 (RS,M,W) -ROOOOOOO en-
queue O O 0O O

3. 0000000O0IndexicalsH OO0 O00O0OO00ODOOOOOOODOO
4. 000000000
o. uuuoubbobod

6. TellHCC(),00DO0D00OO cl
if (tellHce(c)) {
00000000000 00D000 () - return 2
switch(a = P.cl — P.c2){
case a > 0:
goto 2
case a < 0:
Y u{C2}
continue
case a = 0:
ts— > halt = HecConstrErr,

}

. 0pooobooobooon

NullifyQ(&metaq); NullifyQ(&defaultQ)
restoreState (ptQ) ;NullifyQ(&NQ) ;
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7.2 JUooooog

gogbbbuoooobbboooobbboodan
o JOOOOOU

o [JUOOU

requied x+y=3
weak x=0

weak y=2

oooboDbo00d ROx4+y=3Wlz=0-Wly=3
dequeue(W:y=2) 000 000ODOO
OO00DR=0W=300000000 Z=15-00000000
UOORAW =W

goooo
W:iz=0-W:y=2(-W:x=0andW :y=2) - R:x+y=3-000
W:x=0W.:y=2000000000000000
gdodoodododooooooooooouoooo

ooooooRrRSMwWOOOOODODODOOOoOooooOO

-

requied x+y=3
strong z=0
medium z=5
weak x=3

weak y=2

R- S - M - W - W
! vooooogoo oy boou
S:z=0UDUDO M:z=b0 00000 W:x=3 W:y=2000
W:y=0
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f

requied x+y+z=3
strong z=0
medium x=2
medium y+z=5
weak y=2
R-0O0sSOO0O0D0-0O0MUOO -OMOOODODODOOO -0OW
i VOO
S:z=00 0 0UDO M:x=2 M:y=5000
M:y=1

N

requied x+y+z=3
strong y+z=b5
medium x+y=3
weak y=2
R-0O00SOODOO - M - W
i 1 1
S:x=-2 M:y=5 W:y=200
M:z=0

-
.
requied x+y+z=3
strong y+z=4
medium x=1
weak y=2
R-00SO0ODOO - M - W
| 1 1
S:x=-1 M:x=100 W:y=2
W:z=2

A\
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81 0U0OO

gbobobogboogoboooobbooobbooobbooobbonoa
gobboobuoodgbbboooboobbbooobuobobbuooobbodg
goboggbbuogobboobbuoogbbuoobuooobobouoobboo
gbobbodgboogbbooobbooobboobbooobooobboo
ggbbobuoooobbboooobbbuoogooon
gbobbooobboobobbuobbboodobbooobbuoobbooboo
goboboogbbogobboobbuoogbbuoobuooobbooobboo
gbobogobbodbbuoobbuooobboobbooobboobboo
gogooboggd

8.2 [OOOO

gboobgoobooboobo
gbobogbbuogbuooobbuooobboobbooobbooobboo
gobbooobbogoboboobbuoobobooobbooobboobboo
gbobbooboboooobboogbbooobobobboobboobbao
gobobogboodbobooobbooobbooobooobbooboobo
ggboobobuoooobbobuooooboboboodad
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1 [

gobbooobboooboobbooobooobooobbooobboo
gobbboooobooobbbuooobbuoogbuooobbooonbobodg
gobbodgbbooobbooobbooobboobbooobbooobnoboo
gooooboooobooboooobooob oBobOooboOobOobOoOoOog
gobobooobbooobboobbooobbuooobboobbooboo
ggbbobuooogbbboooobbbooogno
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